
Supporting Information Datasets for “European
Neolithic Societies Showed Early Warning

Signals of Population Collapse”

Sean S. Downey, W. Randall Haas Jr., and Stephen Shennan

8 June, 2016

1



EWS analysis for all regions.

2



8000 7500 7000 6500 6000 5500

0.
00

0
0.

00
2

0.
00

4
0.

00
6

A. Southern Germany beginning of increase to collapse
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neo trans=7600
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B. Complete time series
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To=−0.2  Ps(X>=x)=1
T[o]=0.54 @ 6390BP  P[s](X>=x)<0.01
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To=−0.2   Pn(X>=x)=0.52
T[o]=0.54   P[n](X>=x)=0.04
AR[1]{Te}
AR[1]{T[e]}

●●●●●●
●●

●

●●●●●●
●●

●

●●
●●●●●●●●●●●●●●●

●●●●●●
●

●

●

●
●

●

●

●●●●●●●●
●

●●
●
●●●●●

●●●●
●●

●
●●

●●
●

●
●●●

●

●●●●

●

●

●●●●

●

●

●●
●●●●●●●●●●●●●●●●●●●●●

●
●
●●●●●

●
●
●●

●●●●
●

●●
●
●
●

●

●●
●

●

●
●
●

●●

●●

●

8000 7500 7000 6500 6000 5500

0.
00

01
0

0.
00

02
0

E. Standard Deviation

Cal. Years BP

σ
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To=−0.01  Ps(X>=x) = 0.6
T[o]=0.89 @ 5700BP  P[s](X>=x)<0.01
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G. Skewness
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A. Eastern Switzerland beginning of increase to collapse

Cal. years BP

S
P

D earliest ag.=6500
neo trans=6500
neo bust=5650
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B. Complete time series
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A. England and Wales (w/o Wessex & Sussex) beginning of increase to collapse

Cal. years BP
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10000 8000 6000 4000

0.
00

0
0.

00
2

0.
00

4
0.

00
6

B. Complete time series
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Wavelet analysis for all regions.
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EWS sensitivity analysis for all regions.
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●Eastern Switzerland
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●England and Wales (w/o Wessex & Sussex)
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●Ireland
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●Paris Basin
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●Rhone−Languedoc
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●Scotland
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●Southern England (Wessex & Sussex)
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●Western France
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